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QUESTION 1

What are the association end names in the exhibit? 

A. Person and Order 

B. customer and Order 

C. 1 and * 

D. 1, *, customer, and Order 

E. 1, *, customer, order, Person, and Order 

Correct Answer: B 

 

QUESTION 2

What is specified by a use case? 

A. set of user interface screens 

B. required usage of the system 

C. possible path based on a value 

D. business justification for system development 

Correct Answer: B 

 

QUESTION 3

What does the symbol in the exhibit represent inside UML 2.0 activity diagrams? 

A. pin 
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B. port 

C. place 

D. entry state 

E. parameter node 

Correct Answer: A 

 

QUESTION 4

In the exhibit, what is the meaning of size in these two diagrams? 

A. Only one or the other should be used, not both, in order to avoid a name conflict. 

B. The size end name on the association indicates data storage and the attribute does not. 

C. There is one size property diagrammed both as an attribute and as an association end. 

D. There are two size properties that have no name conflict as long as each size is private. 

E. The size attribute in the class indicates that it will be stored within the class and the end name does not. 

Correct Answer: C 

 

QUESTION 5

What is the purpose of general ordering in a UML 2.0 interaction diagram? 

A. mechanism to provide partial ordering of event occurrences 

B. principle of how to order the lifelines within a sequence diagram 

C. construct showing the order of messages in a communication diagram 

D. construct to define the generalization relationship between different interactions 

Correct Answer: A 
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